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Company: Bayswater Exploration
Well Name: Walton I-25HN
API:
Rig Id: Frontier 10
State: Colorado
County/Parish: Weld
Country: USA
Survey Company: Ensign Directional
Job number:
Dir. Driller Days Dan Barton
Dir. Driller Nights Jerrid Kern
Dir. Driller Rotator Tony Callow
MWD1 Zach Hanberger
MWD2 Joe Dupre
Log measurements: Gamma Depth Date
Depth measured from: Rig Floor Start: 1538 ft  8/14/15
Maximum temperature: 204 End: 12280 ft 8/20/15
Casing Depth Size Mud Type: H20 Elevations
Surface: 1538 95/8 Density: 9.8 KB: 5000
Intermediate: 5 Viscosity: 41 GL: 4978
Rm: Rmf: Rmc: DF: 5000
Offsets Depths Dates
Run| Bit Size | Gamma Survey Start End Start End
1 13 0 1538 7/11/15 7/11/15
2 8.75 57.84 52.84 1538 7980 8/14/15 8/15/15
3 8.50 61.38 58.47 7980 8066 8/16/15 8/16/15
4 |8.50 55.90 52.99 8066 12280 8/16/15 8/20/15
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